TPIDAZIKOI
HAEKTPOKINHTHPEZ

DEMAC
NEPITPA®H
Tpipaowkoi oxvg: 0,18...315 KW
ota 380VOLT/ 50 Hz k' 440VOLT/60 Hz,
2,4, 6, 8 TOAWV Kol peTafarlopevwy.
Ydpxouv Tpel PBAOLKEC SOUEC OTNPLENG :
a. Me Baoelg IM B3.
B. Me pAavtla IM B5 k' IM B14.
V. Me Baoelg kat dpAdvtla IM B35.
® To k€Audog Tou KLvnTRpa Kal ta TAEUPLKA KaAUUpaTo ivol armo xutooildnpo kot oAoupivio ota
ULKPQA LEYEDN.
e O aveulotipag Puewg amd okANPO MAACTIKO, OTo HEyOAa LEYEDN HETaAAIKOS. KAAuppa aveplothpa
METOAALKO.
® Ta poulepdv SKF eival kAelotol tumou pe Almavon Slapkeiog kot yia peyedn amod IEC 160 kat
MAvw UTAapyxouv e€wteplkol Aumavtnpec.
® To KIpwto akpodektwv Ppioketal oTo MAVW HEPOC Pe SMAR elcodo mapoxng PeLUATOC .
e Eminedo BoplBou xaunAo.
® YUnAog Babuog amodoong.
e Babuog npootaciag IP55.
e OL KWVNTAPEG UMOPOUV VA AELTOUPYOUV CUVEXWE KOl XPNOLUOTIOLOUVTAL EUPEWE O OAQ Ta
pnxaviuata, WOlaitepa ta peydha peyedn sival katdAAnAa omou amatteltal peydAn pomn
€KKLVNONG.

MEPIEXOMENA

STOLXELO-EEOPTALOTO KIVNTIIDO 1evvcvenierereaeereneereseeesessasesessstensssssesessessssessnsesensssesensssessssesensases oel. 1
JUVONKeG AELTOUPYLAG- LEVEDN KIBWTIOU GKPWY .veeevercererieecieeeeiereeereseseresevesessesesessensnens oel.2
TPOTIOL OTHIPLENG weveveeveeeerreeresteterereete st teseestesesbesassesesessesassasesassesass et sessesansstessssesarsasesessesasasesenns oel.3
MEVEDN POUAELLAVY ..veeveviietieeeee ettt ete st et ete st asatsseae st sss s aas et sesbesesessessaseseasetessasesansstensasans oel.4
TeXVIKA XOPOKTNPLOTLKA 3000IPIM ...eouvivieeieeeieree et et etesteesssseetesaaesessssessssessesssesessesassasesaens oel.5
TEXVIKA XOPOKTNPLOTLKO L1500IPM w..vievvieeeeeeeieteee ettt et eteee et e aesess e et aessesetesessessesesesnens oel.6
TeXVIKA XOPOKTNPLOTLKO 1O00IPM ...eevviee ettt ettt et eaeee et e aeses e steaessesstesesesseseseseens oel.7
TEXVIKA XOPOKTNPLOTLKA 750TPIM ettt cteeeetereee et et tereecveeeaereasete e tes s etensatesenseresnserensenes oel.8
ALOOTACELG KIVATAPWY IM B3 oottt ettt et er et sea s st se et e et e aenne s oel.9
ALAOTAOELG KIVNTAPWY IM B35 .ottt ettt st st et teb et s s e st sen s e e eee oel.10
ALOOTACELG KIVATAPWY IIM B5 ..ottt et ter e et estes e et e s er s ere e berans et sesessnnes oel. 11

ALOOTACELG KIVNTAPWY IM BLA.....eoeeeeeeeeeeeeeete ettt ettt tee et e eaes e s besee e e nanens oel. 12



2ZTOIXEIA -EZAPTHMATA KINHTHPA

® - I

@

8

1. B5 Flange 12. Stator 23. Terminal box lid
2. Gasket 13. Feet 24. Terminal box base
3. B14 Flange 14. Nameplate 25. Cable gland

4. Frame 15. Rotor 26. Terminal board

5. Key 16. Inner bearing cap 27. Brass lug

6. (V Ring) Oil Seal 17. Rear endshield 28. Brass net

7. Bolt 18. Fan 29. Earth mark

8. Spring Washer 19. Fan cowl 30. Brass washer

9. Front endshield 20. Screw 31. Outer bearing cap
10. Wave washer 21. Washer

11. Bearing 22. Fan clamp

DESIGNATION |

MOTOR IDENTIFICATION SYMBOL PROTECTION CLASS
Y2 - 225 M-4 1P S

S
T No. of poles
Core length Splashproof
Protecting against dust

The central height of the frame

International Protection Symbol

Motor identification symbol

\

Totally-enclosed fan-cooled type

International Cooling Symbol




ZYNOHKEZ AEITOYPIIAZ-METEOH KIBQTIOY AKPOAEKTQN

OPERATING CONDITIONS |

Ambient temperature: -15° C <=0 <=40° C This series motors amount to the seventeenth frame sizes.

Altitude: Altitude should be lower than 1000 meters above sea level. Among of them,the frames and end-shields of the frame size from 63
Rated voltage: 380V - 440V to 132 are made of cast iron or aluminium-alloy, and the frames of
Rated frequency: 50HZ - 60HZ 160 or over are made of cast iron with sufficient mechanical strength.
Connection: Star-connection for 3kw or less whereas delta- All cooling ribs of motors assume vertical or horizontal distribution.
connection for 4kW or more. Terminal boxes are mounted on top of the motor as standard. The
Duty/Rating: Continuous(Sl). terminal box can also be mounted on the left or right.

Insulation class: F,the temperature rise of the stator winding is The terminal box of motor sizes 63 to 132 can be turned 4x90° and
examined at 80K(by resistance method). in motors sizes 160 to 355 rotated 2x180° to allow cable entry from
Protection class: IP 55. either side of the motor.

Cooling method: IC411 Degree of protection od standard terminal box is IP 55.

Terminal box examples

Motor sizes 71 to 132 Motor sizes 160 to 250 Motor sizes 280 to 355, provided either
with a cable gland or a cable box.

MAIN DATA FOR TERMINAL BOX |

1 63-80 2.6 2XM25X 1.5
2 90-100 6.8 2XM25X 1.5
3 112-132 15.4 2XM32X 1.5
4 160-180 42.5 2X M40 X 1.5
5 200-225 84.2 2 X M50 X 1.5
6 250-280 166.6 2X M63 X 1.5
7 315 358 2X M63 X 1.5
8 355 546 2X M63 X 1.5



TPONOI ZTHPIZHZ

MOUNTING ARRANGEMENT |

Fundamental arrangement

Mounting arrangement

Range of manufacture
(frame size)

Diagram

IMB3

IM B3
63-355

IM B8
63-160

IM BS

IM B6
63-160

IM V5
63-160

IM B5
63-355

IM B35
63-355

IM V1
63-355

IMV15
63-160

IMV18
63-160

IM V58
63-160

IMB7
63-160

IM V6
63-160

IMV3
63-160

IM V36
63-160

IMV19
63-160

IM V69
63-160




METEOH POYAEMAN

BEARING SIZE |

AC

M O T O

2. 4 6201 ZZ-C3 6201 ZZ-C3
2to6 6202 ZZ-C3 6202 ZZ-C3
2to 8 6204 ZZ-C3 6204 ZZ-C3
2to 8 6205 ZZ-C3 6205 ZZ-C3
2to8 6206 ZZ-C3 6206 ZZ-C3
2to 8 6306 ZZ-C3 6306 ZZ-C3
2to 8 6308 ZZ-C3 6308 ZZ-C3
2to 8 6309-C3 6309-C3
2to8 6311-C3 6311-C3
2to 8 6312-C3 6312-C3
4to8 6313-C3 6313-C3
2 6312-C3 6312-C3
4to8 6313-C3 6313-C3
2to8 6314-C3 6314-C3
2to 8 6316-C3 6316-C3 6316-C3 6316 B
2 6316-C3 6316-C3 6316-C3 6316 B
4to8 NU319E 6319-C3 6319-C3 7319B
2 6319-C3 6319-C3 6319-C3 7319B
4to8 6322-C3 6322-C3 7322B

NU322E




TEXNIKA XAPAKTHPIZTIKA 3000 RPM

TECHNICAL DATA |

SPEED 3000RPM 2-POLES 50HZ

0.18 0.25 2720 0.52 0.5 0.48 65.0 0.80 0.61 0.0031

0.25 0.37 2720 0.69 0.65 0.63 68.0 0.81 0.96 2.2 2:2° 5.5 0.0001 61 14.5
- 0.37 0.5 2740 0.99 0.94 0.91 70.0 0.81 1.27 2.2 2.2 6.1 0.0006 64 15
_ 0.55 0.756 2740 1.39 1.33 1.29 73.0 0.82 1.88 2.2 | 2.3 6.1 0.0008 64 15.5
— 0.75 1 2840 56 B562/ R1566) 80.6 0.83 2.54 2.2 2.3 6.1 0.0008 67 15.5
- 5 S| 1.5 2840 2.4 -2.28/°2.19 82.9 0.84 3.72 3 3.2 8 0.0009 67 17.5
_ 1.5 2 2840 3.22 3.06 2.95 84.2 0.84 5.04 3 3.2 8 0.0012 72 21
_ 2.2 3 2840 4.59 4.36 4.2 85.7 0.85 7.4 3 3.2 8 0.0014 72 25
_ 3 4 2860 6.04 5.73 5.53 86.8 0.87 9.95 2- 88 R 3.2 8 0.0029 76 33
_ 4 5.5 2880 7.87 7.48 7.21 87.7 0.88 13,22 2:5 32 8 0.0055 77 41
- 5.5 7.5 29008 S 107 10,2} | 9.79, 88.8 0.88 A8LAIN R228 832 8 0.0109 80 63
_ 725 10 2900 14.5 13.7 13.2 89.6 0.88 24.7 2.2 3.2 8 0.0126 80 70
_ 11 15 2930 20.7 19.6 18.9 90.8 0.89 35.85 1.9 3 8 0.0377 86 110
_ 15 20 2930 28 26.6 25.6 91.5 0.89 48.89 1.9 3 8 0.0499 86 120
_ 18.5 25 2930 33.9 32.3 31.1 92.0 0.90 60.3 1.9 3 8 0.055 86 135
_ 22 30 2940 40.2 38.2 36.8 92.3 0.90 71.46 1.9 3 8.2 0.075 89 165
_ 30 40 2950 54.5 51.7 49.9 93.0 0.90 97.12 1.9 3 7.6 0.124 92 218
_ 37 50 2950 66.8 63.5 61.2 93.5 0.90 119:7:8 1.9 3 7.6 0.139 92 230
- 45 60 2960 81 76.9 74.2 93.8 0.90 144.7 1.8 2.5 7.6 0.233 92 280
_ 55 75 2965 98.6 93.6 90.3 94.2 0.90 176.85 1.8 265 8.2 0.312 93 365
_ 75 100 2970 134 127 122 94.8 0.90 241.16 1.7 2.5 7.6 0.579 94 495
_ 90 125 2970 158 150 145 95.2 0.91 289.39 1.7 2.6 7.6 0.675 94 565
_ 110 160 | 2976 " 193 | 183 | 177 95.2 0.91 35250 N1 68 R 228 72 1.18 96 890
_ 132 180 2976 231 219 211 95.5 0.91 423.02 1.6 2.2 7.2 1.82 96 980
- 160 | 220" ‘2975 | 276 | 263 | 263 95.6 0.92 SV287.6| BAR6N N2 2 B2 2.08 99 1055
- 200 270 2975 346 329 317 95.5 0.92 640.94 1.6 2.2 7.2 2.38 99 1110
_ 250 340 2980 430 409 394 96.0 0.92 799.83 1.6 2.2 7.2 3 103 1900
_ 315 430 2980 542 515 496 96.0 0.92 10079 =968 R 2: 20 872 3.5 103 2300




TEXNIKA XAPAKTHPIZTIKA 1500 RPM

TECHNICAL DATA |

SPEED

Q32

U

0.18
0.25
0.37
0.55

0.75

1.5

2.2

5.5
7.5

250
315

0.18

0.25

0.37
0.5

0.75

5.5
%5
10
15
20
25
30
40
50
60
75
100
125
150

180

340
430

1310
1310
1330
1330
1390
1390
1390
1390
1410
1410
1435
1440
1440
1460
1460
1470
1470
1470
1475
1475
1480
1480
1480
1480
1480
1480
1480
1490
1490

21.8
29.1
35.4
41.9
56.8
68.9
83.6
102
138
165
199

3.22
4.53
6.04
7.96
10.7
14.3
20.7
2T
33.6
39.8
54
65.4
79.4
96.7
131
157
189
226
271

3.11
4.37
5.82
7.67
10.3
13.8
20.0
26.7
32.4
38.4
52
63.1
76.6
93.2
126
151
182
218
261

1500RPM 4-POLES 50HZ

57.0
60.0
65.0
67.0
80.6
82.4
83.9
85.1
86.5
87.5
88.5
89.3
90.2
91.1
92.0
92.3
92.8
93.3
93.8
94.0
94.4
94.9
95.2
95.5
95.6
95.8
95.6
96.0

96.0

0.72
0.73
0.74
0.75
0.75
0.76
O T
0.79
0.81
0.82
0.82
0.83
0.84
0.84
0.85
0.86
0.86
0.86
0.87
0.87
0.87
0.87
0.87
0.88
0.88
0.89
0.89
0.90

0.90

0.84
1.26
1573
2.54
3.78
5.15
7.5
10.23
14.8
20.18
26.53
36.48
49.74
71.59
98.12
120.19
142.93
160.98
198.51
290.37
354.9
483.95
578.79
707.41
848.89
1029
1286.2
1602.4
2019

251
2.1
2.1
21
2.4
2.4
2.7
2.7
2.5
2.5
202
252
2.2
2.4
2.1
21
2.1
2.1
1.8
1.8
1.8
1.8
1.8
1.7
s b
1 [
VT
1 LA

3 J5t/

2.2 4.4

2:2
2.2
2.2
2.3
2.3
3.0
3.0
2.8
2.8
2.8
2.8
2.8
2.8
2.8
2.8
2.5
2.5
2.3
2.3
2.3
2.3
2.3
2.2
2:2
252
252
2.2

2.2

4.4
5.2
5.2
5.2
6.0
7.0
70
7.0
7.0
7.0

N
o

= il Bl il Bl Bl

o o 0o a0 o a0 a o a0 0 o

=
(N

o2
2
T2

-2

0.0002
0.0003
0.0006
0.0008
0.0018
0.0021
0.0023
0.0027
0.0054
0.0067
0.0095
0.0214
0.0296
0.0747
0.0918
0.139
0.158
0.262
0.406
0.469
0.66
1.12
1.46
3.11
3.62
4.13
4.73
6.5

8.2

52
52
55
55
58
58
61
61
64
64
65
71
71
75
75
76
76
79
81
91
83
86
86
93
93
97
97

101

101

13
13.5
14
14.5
15
16
23
25
33
35
41
65
76
118
132
164
182
245
258
290
388
510
606
910
1000
1055
1128
1700
1900




TEXNIKA XAPAKTHPIZTIKA 1000 rpm

TECHNICAL DATA |

SPEED 1000RPM 6-POLES 50HZ

0.18 0.25 0.74 0.7 0.68 56.0 0.66 1.91 0.0011
0.25 0.37 850 0.95 0.9 0.87 59.0 0.68 2.65 1.9 2.0 4 0.0014 50 14.5
0.37 0.5 8851 1729 8123 1118 62.0 0.70 3.93 1.9 2.0 4.7 0.0016 52 15
0.55 0.75 885 1.54 1.46 1.41 75.5 0.72 5.84 1.9: 21 4.7 0:0019 52 16
0.75 1 910 2.03 1.93 1.86 77.8 0.72 87 2.5 25 5.5 0.0029 55 19
171 1.5 910 2.86 2.72 2.62 80.0 0.73 11.54 2.5 2.5 6.5 0.0035 55 22
1.5 2 920 3.72 3.53 3.41 8154 0.75 15.24 2.2 2.5 5.5 0.0069 59 32
2.2 3 935 65.26 5 4.82 83.6 0.76 22.35 2.2 2.6 5.5 0.014 63 41
3 4 960 7.05 6.7 6.45 85.1 0.76 29.84 2.1 2.5 5.5 0.0286 67 63
4 5.5 960 9.27 8.8 8.48 86.3 0.76 39.79 2.1 2.5 6 0.0357 67 72
5.5 7.5 960"  12.4 11.8 11.3 87.6 0.77 54.71 241 25 6 0.0449 67 81
7.5 10 970, 18,6 15:8: 15.2 89.2 0.77 73:84 2:1 2.5 6 0.0081 71 118
11 15 970 23.8 22.6 21.8 90.2 0.78 F08:3" 2:10 B2 51 6.5 0.116 71 145
15 20 970 30.9 29.3 28.2 91.2 0.81 147.68 2.1 2.5 6.5 0.207 71 178
18.5 25 980 37.8 36 34.7 917 0.81 182.14 2.1 2.5 74 0.315 74 200
22 30 980 43.7 41.5 40 92.2 0.83 216.6 2.1 2.5 7 0.36 74 228
30 40 980 58.6 55.7 53.7 92.6 0.84 29235518 | W210 7/ 0.547 74 265
37 50 980 70.1 66.6 64.2 93.2 0.86 360.26 1.8 2.0 T 0.843 76 370
45 60 980 84.8 80.6 77.7 93.7 0.86 438.52 1.8 2.0 7 1.39 78 490
55 75 980 103 98.2 94.7 94.0 0.86 535.97 1.8 2.0 7 1.65 78 540
75 100 985 140 133 128 94.6 0.86 730.87 1.8 2.0 o 4.11 83 900
90 125 985 167 =159, =163 95.0 0.86 872.59 1.8 2.0 7 4.78 83 980
110 150 985 204 194 187 95.2 0.86 1066.5 1.8 2.0 7 5.45 83 1045
132 180 985 241 229 221 95.5 0.87 1279:8 1.8 2.0 7 6.12 83 1100
160! 220 990 288 274 264 95.8 0.88 1543.4 1.8 2.0 7 9.5 90 1550
200 270 990 363 345 332 95.2 0.88 1913.3 1.8 2.0 7 10.4 90 1600
250 340 990 454 431 416 95.1 0.88 2411.6 1.8 2.0 7 12.4 90 1700




TEXNIKA XAPAKTHPIZTIKA 750 RPM

DEMAC

TECHNICAL DATA |

SPEED 750RPM 8-POLES 50HZ

0.18 0 25 0.88 0.83 0.8 51.0 0.61 2.49 1.9 3.3 0.0025 16
0.25 0.37 645 1.57 1.09 1.05 54.0 0.61 346 18 1.9 3.3 0.003 52 18
0.37 0.5 670 '1.49 1.41 1.36 62.0 0.61 oit28 B1i:8" 11,98 54 9 0005418 S5 678 22
0:55 0.75 670 2.17 2.06 1:99 ., 63.0 0.61 761" 11.8 0.0065 56 24
0.75 1 680 || 12.348 82:2°(52.12 & 73.6 0.67 10.23 1.8 0.009 59 30
1248 1.5 660830 788 3101352087 6.5 0.69 15.00 1.8 0.011 59 32
1.5 2 690 4.2 3.99 3.85 78.6 0.69 20.46 1.8 0.0245 61 40
22 705" '5:81 15:51 15.32 " 81.1 0.71 29.59 1.8 0.0314 64 64
3 4 705 | 7:54.17.16!6.91 | 828 0.73 4035 1.8 0.0395 64 78
- 55 720 9.86 9.37 9.03 844 0.73 53.06 1.9 0.07563 68 105
550 75 7200 F1318 12757 B2 86.0 0.74  72.59 0.0931 68 115
75100 © 720 1817450165 '15.9. " 87:3 0.75 99.50 0.126 68 145
15 730 24.7 23.5 226 89.0 0.76  143.90 0.203 70 160
207307 133:2 1 31:6; 30:4 " 90.2 0.76  196.23 0.399 73 228
25 730 40.7 38.7 37.3 90.8 0.76  242.02 1.9 0.491 73 242
30 730 46.9 445 429 914 0.78 287.81 1.9 0.547 73 265
40 735 625 59.4 57.2 923 0.79 | 382.47 1.9 0.834 75 368
50 '735 766 72.8 70.1 929 0.79 484.04 1.9 1.93 76 472
60 735 927 88 84.8 934 0.79 580.74 1.8 3.65 76 538
75 @ 735 110° 104 101 93.8 0.81 709.80 1.8 4.79 82 900
100 735 149 141 136 94.5 0.810 |:1967.91/1 1.8 5.58 82 1000
1256 735 176 167 161 94.8 0.82 1161.49 1.8 6.37 82 1055
1107 1501 7357 1214 | 2031|7196 | 195.3 0.82 1419.60 1.8 7.23 82 1118
132 180 740 256 243 235 95.5 0.82 1692.08 1.8 7.9 90 2000
160 220 740 309 294 283 95.8 0.82 2051.00 1.8 10.3 90 2150
200 270 740 382 363 350 95.8 0.83 2563.38 1.8 12.3 90 2250

-l

w

-
-

N bR W W N
a0 G N O N

©
o
N NN DN DNDNDNDNMDNDNDDNDDNDDNDDNDDNDDNDDNDNDDNDMNDDNDNDNDDND

N O O O O H OO OO DD
ML o Blobloollo RO CE TR B T

_‘_l
o
o 9




AIAZTAZEIZ KINHTHPQN IM B3

MOUNTING AND OVERALL DIMENSIONS

IM B3 63-355)

63-132 160-355 160-355
=} 7 S G GD \C AL 1A DH

2. 4 100! 301 "801N40L L1123 1841 18161 N4 63) = 70 1351120! 1801 :225i .81 8 M4X12
2. 4.6 112 32 90 45 14 30 5 11 Dl 7 7 150 136 195 250 85 8 M5X12
2.4.6.8 125 34 100 50 19 40 6 15.5 6 80 10 165 156 214 295 101 10 M6X16
2.4.6.8 140 36 100 56 24 50 8 20 7 90 10 180 176 250 315 110 12 M8X19
2.4.6.8 140 36 125 56 24 50 8 20 7 90 10 180 176 250 340 110 12 M8X19
2,4.6.8 160 40 140 63 28 60 8 24 7 100 12 205 196 270 385 125 14 M10X22
2.4.6.8 190 45 140 70 28 60 8 24 7 112 12 230 220 300 400 132 15 M10X22
2.4.6.8 216 55 140 89 38 80 10 33 8 132 12 270 259 345 470 169 18 M12X28
2.4.6.8 216 55 178,89 /38 80 10 33 8 132 12 270 259 345 510 169 18 M12X28
2.4.6.8 254 '65 210 108 42 110 12 37 8 160 15 320 315 420 615 190 20 M16X36
2.4.6.8 254 65 254 108 42 110 12 37 8 160 15 320 315 420 670 224 22 M16X36
2 279 70 241 121 48 110 14 425 9 180 15 355 355 455 700 220 25 M16X36

4. 6. 8 279 70 279 121 48 110 14 425 9 180 15 355 355 455 740 220 28 M16X36
4. 6. 8 279 70 279 121 48 110 14 425 9 180 15 355 355 455 740 220 28 M16X36
2 318 70 305 133 55 110 16 49 10 200 19 395 397 505 770 241 30 M20X42

4. 6. 8 318 70 305 133 55 110 16 49 10 200 19 395 397 505 770 241 30 M20X42
4. 8 356 75 286 149 60 140 18 53 11 225 19 435 445 555 815 241 28 M20X42

2 356 75 311 149 55 110 16 49 10 225 19 435 445 555 820 241 28 M20X42

4. 6. 8 35675 (311149 60 140 18 53 ' 11 225 19 435 445 555 845 241 28 M20X42
2 406 80 349 168 60 140 18 53 11 250 24 490 485 615 910 263 30 M20X42

4. 6. 8 406 80 349 168 65 140 18 58 11 250 24 490 485 615 910 263 30 M20X42
2 457 85 368 190 65 140 18 58 11 280 24 550 547 680 985 283 35 M20X42

4, 6, 8 457 85 368 190 75 140 20 67.5 12 280 24 550 547 680 985 283 35 M20X42
2 457 85 419 190 65 140 18 58 11 280 24 550 547 680 1035 283 35 M20X42

4. 6. 8 457 85 419 190 75 140 20 67.5 12 280 24 550 547 680 1035 283 35 M20X42
2 508 120 406 216 65 140 18 58 11 315 28 635 620 845 1160 428 45 M20X42
4.6.8 508 120 406 216 80 170 22 71 14 315 28 635 620 845 1270 428 45 M20X42
2 508 120 457 216 65 140 18 58 11 315 28 635 620 845 1190 487 45 M20X42
4.6.8 508 120 457 216 80 170 22 71 14 315 28 635 620 845 1300 487 45 M20X42
2 508 120 508 216 65 140 18 58 11 315 28 635 620 845 1190 436 45 M20X42
4.6.8 508 120 508 216 80 170 22 71 14 315 28 635 620 845 1300 436 45 M20X42
2 610 116 560 254 75 140 20 67.5 12 355 28 730 698 1010 1500 544 52 M20X42
4.6.8 610 116 560 254 100 170 28 90 16 355 28 730 698 1010 1530 544 52 M20X42
2 610 116 630 254 75 140 20 67.5 12 355 28 730 698 1010 1500 474 52 M20X42
4.6.8 610 116 630 254 100 170 28 90 16 355 28 730 698 1010 1530 474 52 M20X42




AIAZTAZEIZ KINHTHPQN IM B35

MOUNTING AND OVERALL DIMENSIONS |

IM B35 63-355

L
-t
Tof| = Q) et o M100 and F

M 63-355 M 63-200 M 225-355
2. 4 100 80 40 8.5 63 135 120 180 225 81 115 95 140 10 3 M4X12
2. 4. 6 112 90 45 14 30 5 e S 7 150 136 195 250 85 4 130 110 160 10 3.5 M5X12
2.4.6.8 125 100 50 19 40 6 15.5 80 10 165 156 214 295 101 4 165 130 200 12 3.5 Mé6X16
2.4.6.8 140 100 56 24 50 8 20 90 10 180 176 250 315 110 4 165 130 200 12 3.5 M8X19
2.4.6.8 140 125 56 24 50 8 20 90 10 180 176 250 340 110 4 165 130 200 12 3.5 M8X19
2.4.6.8 160 140 63 28 60 8 24 100 12 205 196 270 385 125 4 215 180 250 15 4 M10X22
2.4.6.8 190 140 70 28 60 8 24 112 12 230 220 300 400 132 4 215 180 250 15 4 M10X22
2.4.6.8 216 140 89 38 80 10 33 132 12 270 259 345 470 169 4 265 230 300 15 4 M12X28
2.4.6.8 216 178 89 38 80 10 33 132 12 270 259 345 510 169 4 265 230 300 15 4 M12X28
4, 6. 8 254 210 108 42 110 12 37 160 15 320 315 420 615 190 4 300 250 350 19 5 M16X36
4. 6. 8 254 254 108 42 110 12 37 160 15 320 315 420 670 224 4 300 250 350 19 5 M16X36
2 279 241 121 48 110 14 425 180 15 355 355 455 700 220 4 300 250 350 19 5 M16X36
4. 6. 8 279 241 121 48 110 14 425 180 15 355 355 455 700 220 4 300 250 350 19 5 M16X36
4. 6. 8 279 279 121 48 110 14 425 180 15 355 355 455 740 220 4 300 250 350 19 5 M16X36
2 318 305 133 55 110 16 49 200 19 395 397 505 770 241 4 350 300 400 19 5 M20X42
4. 6. 8 318 305 133 55 110 16 49 200 19 395 397 505 770 241 4 350 300 400 19 5 M20X42
4. 8 356 286 149 60 140 18 53 225 19 435 445 555 815 241 8 400 350 450 19 5 M20X42
2 356 311 149 55 110 16 49 225 19 435 445 555 820 241 8 400 350 450 19 5 M20X42
4. 6. 8 356 311 149 60 140 18 53 225 19 435 445 555 845 241 8 400 350 450 19 5 M20X42
2 406 349 168 60 140 18 53 250 24 490 485 615 910 263 8 500 450 550 19 5 M20X42
4. 6. 8 406 349 168 65 140 18 58 250 24 490 485 615 910 263 8 500 450 550 19 5 M20X42
2 457 368 190 65 140 18 58 280 24 550 547 680 985 283 8 500 450 550 19 5 M20x42
4. 6. 8 457 368 190 75 140 20 67.5 280 24 550 547 680 985 283 8 500 450 550 19 5 M20X42
2 457 419 190 65 140 18 58 280 24 550 547 680 1035283 8 500 450 550 19 5 M20X42
4. 6. 8 457 419 190 75 140 20 67.5 280 24 550 547 680 1035283 8 500 450 550 19 5 M20X42
2 508 406 216 65 140 18 58 315 28 635 620 845 1160 428 8 600 550 660 24 6 M20X42
4.6.8 508 406 216 80 170 22 71 315 28 635 620 845 1270 428 8 600 550 660 24 6 M20X42
2 508 457 216 65 140 18 58 315 28 635 620 845 1190 487 8 600 550 660 24 6 M20X42
4, 6. 8 508 457 216 80 170 22 71 315 28 635 620 845 1300 487 8 600 550 660 24 6 M20X42
2 508 508 216 65 140 18 58 315 28 635 620 845 1190 436 8 600 550 660 24 6 M20X42
4.6.8 508 508 216 80 170 22 71 315 28 635 620 845 1300436 8 600 550 660 24 6 M20X42
2 610 560 254 75 140 20 67.5 355 28 730 698 1010 1500 544 8 740 680 800 24 6 M20X42
4, 6. 8 610 560 254 100 170 28 90 355 28 730 698 1010 1530 544 8 740 680 800 24 6 M20X42
2 610 630 254 75 140 20 67.5 355 28 730 698 1010 1500 474 8 740 680 800 24 6 M20X42
4.6.8 610 630 254 100 170 28 90 355 28 730 698 1010 1530 474 8 740 680 800 24 6 M20X42




AIAZTAZEIZ KINHTHPQN IM BS

MOUNTING AND OVERALL DIMENSIONS

IM B5 63-355

.
ofs [O]gmsmess

%

Pl N = ——AC ]

—— |-

) “m 63-355 M 63-200 M 225-355

2. 4 3 B 23 4 8.5 4

FF140 115 95 140 10 120 180 225 10 M4X12
FF160 2.4.6 130 110 160 10 35 14 30 5 11 4 136 195 250 10 M5X12
FF200 2.4.6.8 165 130 200 12 35 19 40 6 155 4 156 214 295 12 M6X16
FF200 2.4.6.8 165 130 200 12 35 24 50 8 20 4 176 250 315 12 M8X19
FF200 2.4.6.8 165 130 200 12 35 24 50 8 20 4 176250 340 12 M8X19
FF250 2.4.6.8 215 180 250 15 4 28 60 8 24 4 196270 385 13 M10X22
FF250 2.4.6.8 215 180 250 15 4 28 60 8 24 4 220300 400 14 M10X22
FF300 2.4.6.8 265 230 300 15 4 38 80 10 33 4 259 345 470 14 M12X28
FF300 2.4.6.8 265 230 300 15 4 38 80 10 33 4 259345 510 14 M12X28
FF350 2.4.6.8 300 250 350 19 5 42 110 12 37 4 315420 615 15 M16X36
FF350 2.4.6.8 300 250 350 19 5 42 110 12 37 4 315420 670 15 M16X36
FF350 2.4.6.8 300 250 350 19 5 48 110 14 425 4 355455 700 15 M16X36
FF350 2.4.6.8 300 250 350 19 5 48 110 14 42.5 4 355455 740 15 M16X36
FF400 2.4.6.8 350 300 400 19 5 55 110 16 49 4 397 505 770 17 M20X42
FF450 4. 8 400 350 450 19 5 60 140 18 53 8 445555 815 20 M20X42
FF450 > 400 350 450 19 5 55 110 16 49 8 445 555 820 20 M20X42
FF450 4.6.8 400 350 450 19 5 60 140 18 53 8 445555 845 20 M20X42
FF550 2 500 450 550 19 5 60 140 18 53 8 485615 910 22 M20X42
FF550 4. 6. 8 500 450 550 19 5 65 140 18 58 8 485615 910 22 M20X42
FF550 2 500 450 550 19 5 65 140 18 58 8 547 680 985 22 M20X42
FF550 4. 6. 8 500 450 550 19 5 75 140 20 67.5 8 547 680 985 22 M20X42
FF550 2 500 450 550 19 5 65 140 18 58 8 547 680 1035 22 M20X42
FF550 4.6.8 500 450 550 19 5 75 140 20 67.5 8 547 680 1035 22 M20X42
FF660 2 600 550 660 24 6 65 140 18 58 8 620 845 1160 22 M20X42
FF660 4. 6.8 600 550 660 24 6 80 170 22 71 8 620 845 1270 22 M20X42
FF660 2 600 550 660 24 6 65 140 18 58 8 620 845 1190 22 M20X42
FF660 4.6.8 600 550 660 24 6 80 170 22 71 8 620 845 1300 22 M20X42
FF660 2 600 550 660 24 6 65 140 18 58 8 620 845 1190 22 M20X42
FF660 4.6.8 600 550 660 24 6 80 170 22 71 8 620 845 1300 22 M20X42
FF800 2 740 680 800 24 6 75 140 20 67.5 8 69810101500 25 M20X42
FF800 4.6.8 740 680 800 24 6 100 170 28 90 8 69810101530 25 M20X42
FF800 > 740 680 800 24 6 75 140 20 67.5 8 6981010 1500 25 M20X42
FF800 4.6.8 740 680 800 24 6 100 170 28 90 8 69810101530 25 M20X42




AIAZTAZEIZ KINHTHPQN IM B14

| SMALL FLANGE (B14A) | LARGE FLANGE (B14B) |

i

\
MHHEHEMHMH
o0 o | Hﬂﬂﬂﬂﬂﬂﬂﬂﬂ

EEMHHEMMMMEMMH
I K e e ey e
s |42 [ 26 | wijmee || | ot et e | o0 ] 4 Jawn | oo onas oo |




